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National Talent Search (First Level) Scholarship Examination, 2013
(For Student Studying in Class - 10)
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TteqoT R/ Part-1

Mental Ability Test
w9d : 90 fie quTier : 90
Time : 90 minutes Max. Marks 90

gitenffal & fov fAder/Instructions to Candidates
Hel & SR 39 W Uge fefafaa Fden @t seam 9 ufew -

Read the following instructions carefully before you answer the questions :

1. Ry grgar wau uss 90 e § 1. Mental Ability Test shall be adminis-

e tered in first 90 minutes. Thereafter
BII | e e I {5 Scholastic Aptitude Test shall be ad-

ST | qrT-1 AR AT e éﬁ ministered. Answer to Part-I - Men-
g9l o IR T U FER-UFE WA B | tal Ability Test are to be given on the
o/ 90 e F g uR gFRye ad given answer sheet. The Mental

Ability answer sheet will be collected

ORIEUT T IR G @ for e 5 e after first 90 minutes. After 5 minute
geand wrT-I1 e g wew Part-I1 Scholastic Aptitude answer
IR~ 2T 20 P v e i %hee]il& aftﬁr l;20 minulteszj Question
2 ooklet will be supplied to you,
s, ford AT & TR S for which will also be collected after the
SfIAT , time is over. '
2. YA IS TR, ol b s ydg-ww § 2. Please wrictie your Ré)ll (Ii\lo. as given
fsRRau gt on your Admission Card very clearly
ﬁmw%‘ ki ; (@W‘fﬁm (only one digit in one box) Please
U 3f) | I8 €T _"@ fe PrE At ﬁaﬂ see that no box is left unfilled even
T 38 9TV | RIS THR H 37 aTed I & 3 zeroes appearing in the Roll No. are
off 51 we U gRIPT U ITR-Uh TR R correctly transferred to the appropri-
o e ’ ate boxes on the booklet and the
et A, I Answer Sheet.
ST : (H.A.GNE. T Example : for N.T.S.E.

213{0{1{3]0{4|0]312]1|5](2(3]0|1]3({014]0]|3[2{1|5

3. AT~ AR AE W0 F 90 W 3 Part.d Mental Ability Test consist of
I UAB A WE AP BTEI 7y | 90 questions. Each question carry

3 one mark www.examrace.com
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(2)

37 e U o % e @y 1.30 AU 4

(90 e v &

e Yee @ IR, STR-UEE H 18U Y
Rt & 1 W R AT T & AES
a1 v, AR Q e et AR ST
TeRT 1T A B TR R BRI A g I
&) e w wdeneff & 2l gl e
oE B R qE T, a1 9% TR Y
Pretar oy siigs o @@ &) gfet @)
o & |

For this paper, prescribed duration is
1.30 hours (90 minutes).

Answer to each question is to be
indicated by blackening, with HB
pencil, full darken corresponding
oval of correct one alternative
number by HB pencil. The scanner
will not accept the answer if the oval
is not filled completely dark if so the
candidate will be responsible for it. If
you want to change the wrong answer
then rub it and indicate by
blackening another oval.

37 3T I8 TR Ry M HeAl & I AT AR BT

. Now go to the next page and start answering the questions

e @8l 98 7 ol

Work at the place meant for it.

e 39 g ¥ o A6 AR 3R 36 R F R R T T R &9e 6 o % 6

Note : Do not write anything anywhere in the booklet except your Roll Number and Rough

www.examrace.com
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AN Tt gRreToT
MENTAL ABILITY TEST

(N.T.S.E. - 13)

WY : 90 e
Time : 90 Minutes

T W 90 ¥ | W WeH U 37 T & |

TOTAL QUESTIONS ARE 90.

EACH QUESTION CARRIES ONE MARK.

999 (1-5)/Questions (1-5)

eer : e e | ue we svft & 8 @ R v 0e e 8, RO me - g (7)
a gyfar mar §) 98 o5 oW Aol & A Ry v aR Reenl (e
Directions : In each question there is a number series with one term missing

shown by question mark (?). This term is one of the alternatives among the four
numbers given under it. That number is-

) & Q@ 81 98 weE i

1. 2 30,6 20,12, 12, (7)
1) 26 2 22
8) 20 4 24
2. 6.20.36.48, 50, ( o
i 56 ’z @) 40 Il
BT 46 A 56 Lo,
3. 7,15, 28 59, 114, (?) g\:\f |
(1) 243 A2y 233
) 213 T4 223
Y6 @ (Rough Work)
K
o 1 N
N ’f‘;'s_%
‘ }‘1{ ‘
g P f:s» .
NTSE 13 - MAT Www. eXTE:P 5.com



(4)
4. 25,49, 89, 145, 217, (?)

(1) 305 @) 327
“(3) 309 (4) 303
5 0,223 3584 10 ()5 17
(1) 6 (2) 7

39 @ 15

799 (6-10)/Questions (6-10)
Frer : g7 w9l o 7% A g8 FE @ A 5 A & S §, R 09 0g a1 § 1 98
A1 o IR feepodl 3 4 U3 81 319§ UG 6

Directions : These questions consists of a number series which contains a wrong
term. This term is given as one of the four alternatives among the four numbers giver

below. The wrong %xrm 5= ¢
6. 89 78 86 80 85 82, 83

(1) 83 ) ) 82
,@r’86 b S 78
7 1,{{é 9, 6, 36, 10, 100, f§)225 )
f‘---——b‘,\ i L <
(1) 225 A9) 16
3) 10 @ 9
8. 444, 300, 200, 136, 87, 84, 80
| (1) 300 (2) 200
3) 136 | 4) 87

AL @ (Rough Work)

) NTSE 13 . MAT g L Www.examrace.com
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9. 8, 15,31, 61, 123, 247, 491
1) 247 @) 491
@) 121 @ 61 —2
10. 3,6, 24, 30, 63,72, 122, 132
(32 — 2) 30 &
@) 122 @) 72

997 (11-14)/Questions (11-14)
ferder : musﬁﬁww%‘s%Weﬁﬂeﬂﬂm\gﬁﬁﬁq@ﬁﬁ:{%rw&ﬁm@

Pl Glov—

Directions : Each question consists of four groups. One set is different from
other three in someway. Find out the different set-

11. (1) PROQN (2) ~DFCEG
(3) GIFHE @ KL
12, (1) ACEGF (2) FHJLK
(3) KMOQP {4 —UWYZA
13. (1) CADGE (2) JHKNL
87 ECFGI (4) XVYBZ
14. (1) 6253 (2) 1881
(3) 7043 /@yﬁlo
% #1d  (Rough Work)
NTSE 13 - MAT [PT.O.

www.examrace.com
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ueq (15-19)/Questions (15-19)

ferfer : oy et & wap areR Ao & 7€ & Rl & TF we gt B, RO (?) e @ et
a1 & | W8 UG & S @l SR-0A H S9f |

Directions : In the following questions there is a letter series with one term
missing shown by (?). Find this term from the four given alternatives.

15, YANWY, DFMBD, IKNGI, NPMLN, ( ? ), XZMVX

(1) RUMSR {27 SUNQS
(3) UWNSU () VUMTV
16. PEXKW, RFWMU, TGVOS, VHUQQ, XITSO, (?)
(W ZISuM (2) YJSUZ
< (3)  ZKSVJ (4) JZSTN

17. AYBZC, DWEXE GUHVI, JSKTL, (? ), POQPR

(1) MQDRN (2) QMONR
(3 MQNRO (4) NQMOR
18. ZYYZR, ABVUN, (?), BCUTM, XWABT, CDTSL
4B YXZAS (2) ZYABT
(3) XWYZR (4) YXZAB

19. deb, ijg, nol, (?), xyv

(1) rsp (2) stp
(3) rsq (4} stq

- I% & (Rough Work)

NTSE 13 - MAT

WWW.examrace.com -
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e (20—23)/Questioﬁs (20-23)
Rrfar « e e & g R R o # 1 o arar /e e oy g 3o W &1
¥ | vede we 3w g & orer (?) i R wan ¥ 3w Rey v Y wRA & fog W fared

AT |

Directions : In each question there are circles. Certain numbers are given inside/
outside the circles according to a particular rule. In each question one of the circle has
a (?) mark in side it. Choose the correct answer to fill in the space marked (?) from

the.given alternatives.

¥

NG S - 3 18
RIC) HO¥ 1()u
A | 4

B 37 2 4
(1) 144 (2) 136
(3) 135 4) 124
& 8 12 9
|
1 @ s@o (e
\\\ '/" 9 8 14
| (1) 102 2) 152
| (3) 162 4) 172
T 4 7 7
i, 78 39 11@9
| e 6 4 2
(1) 91 (2) 108
- (3) 116 @ 119
% &’ (Rough Work)
|
LE Ard
{% -
L P
,.} . R & ff;
NTSE 13 - MAT [PT.O.
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2. 3 6 2
@ s (s
2 3 9
(1) 10.25 | (2) 1050
(31125 () 1150

7T (24-26)/Questions (24-26)

ferdter : ﬁwﬁﬁmﬂ‘fﬁaﬁﬂéamaﬁm‘rﬁ@wamw%lmusaéﬁ:ﬂﬁﬁwwaﬂ

faepedl 3 | U wal 4 @l faded v |

Directions : These questions are based on letter series in which some of the
letters are missing. The missing letters are given in the proper sequence in one of the
alternatives among the four given under each question. Find out the correct alternatives

for each question.

24. ab acc da bba

(1) cdabc badaa
(3) cdbed (4) dbacd

25. abb _ab_ b _bba a

7 bbbab (2) babba

(3) abaab (4) bbabb

2. b “*a bab ab a

(1) baba 2) babb
(3) abab 4) abba

W% &4 (Rough Work)

NTSE 13 - MAT

www.examrace.com



(9)
" (27-31)/Questions (27-31)
ferder : anf &t woel & W vo @oe @i BisT AT & Ut AN wuel A Wean for 7 #
St foreft fafars: foem a1 ot aelt €1 99 e @) o o R @ (?) & fon SR Ry
gl |
Directions : Out of nine cells of a square one cell is left blank and in the rest

of the cells numbers are written which follow some rule. Get the rule and find out the
proper option for the blank cell (?)

; o 2 172|56
the i
the 2 10|42
e 12| 20| 30
(1) 4 2 6
(38 @ 10 )
|
. 28,
| 9116473
| 84|76|61
251 60( ?
(1) 66 (2) 68
(3) 69 4) 71
| % #14 (Rough Work)
A
NTSE 13 - MAT [PT.O.
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29.

(10)

5 10 30 Lyg\:ﬁ_
21312
28| 14(32| -~
(1) 34 @) 16
3) 7 4) 1
» 7(32| 2 >
PR
31| 8 |25 \
11| 24| 9
(1) 50 2) 48
(3) 47 (4) 51
o 4 {20]25 LA
(27|81 9 &
11| 44| 2 |
1) 4 S
3) 30 4) 55
be S
Y &1 (Rough Work)
%
NTSE 13 - MAT

www.examrace.com
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g9 (32-33)/Questions (32-33)
frder : ural & garfy o R W anenRa wed! & wat Rdey g

Directions : Find out the correct alternative of the questions based on the Dice

fxgures
3 4 & Aol g w ?ﬁmﬂ T B |
The number opposite side the face having the no. 4 will be-
(1) 1™ (2) 2

‘”"E@ﬂ

(il )

Aqmzﬁaﬁq@ﬁrmaeﬁs‘né%iﬁa(m)#mﬁa( ) & T TR P 30 T |

Three positions of a Dice are shown. In figure (iii) which number will come in
place of (?).

(1)

5
3) 6 W“‘l

Y & (Rough .Work)

NTSE 13 - MAT www.edREa€.com
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34. fr=ifhd g @ g9 & WU § uRafdd fhar S0 aY S WY G8l 8?

The following figure is converted into a cube. Its correct shape will be-
2

:
6
® ﬁ'ﬂ f’(‘aﬁ"/

35. fr=ifed R @ o9 § ufafdfa fear s d) 2fd 1€ IR R (a), (b), (c) 3R (d) &
MR T Wel ey @l g

The following figure is converted into a cube. Its four positions (a), (b}, {c) and
(d) are shown. On the basis of these select correct alternative.

Fl ‘
G InAn A
B| “ |
oD ) (b) ) (9

(1) %A/ A only j2r @ B /B only
(3) ¥WAIRC/AandConly {4) A B C3RD/A B, CandD

L3

6 B (Rough Work)

NTSE 13 - MAT

www.examrace.com
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%ed (36-40)/Questions (36-40)

frder - %ﬁuwueamaﬁwmmﬁa%ﬁﬂ—%ﬁwﬁ@%mﬁaaﬁww%l PRICE
7o & R (::) 3 a1 oK Tt & gl & 3o T 8, a8 Wy et AR 6 S e A
R & o et 2 1 R g forpdlt A 9 90 g U8 BT ST I
Directions : The following question are based on the arrangement of numbers
in the form of a pyramid. In each question there is some relationship between the two

numbers on the left of the (::). The same relationship exists between the two terms in
the right of which one is missing. Find the missing are from the given alternatives.

1
2 3 4

9 8 7 6 5

10 Q1 12 (13,1147 15

95—24—23- 32 21 20/ 19

% 27 28 %9 30 3 3 3B

49 48 "Wl 46 45 44 43 42 41

36. 132220 : 211412 : 222931 : {?]

(1) 304345 -302123
13) 442931 @) 312022

37. 2873 : 13212014 ::
(1}~ 29282423

10242311 : (?)

AN

16

18

3

40

(2) .- 28274746

@) 25272824 _,(41 99454430
38 241214 : 752119 = 14163234 - (2] .

(1).-16174139 @) 20184240

(3) 21194341 @) - 20224244

17
35 36
39 38 37

3% o9 (Rough Work)

NTSE 13 - MAT

WWW.GXJIRTIGQ@Om
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39. 25224447 : 23204245 :: 11143229 : ( ?)

(] 13163431 (2) 24214341

(3) 24214346 (4) 13102421
40. 82224 : 133133 :: 62022 : (?)

(1) 91221 (2) 81312

(3¥ 7153335 (4) 51921

weT (41-45)/Questions (41-45)
Rrfar : Tm-1 & IooRad o 3Rl § oy ereal Y WIHNIG WINT & SR W F=9-11 5
Kt 1 aofarer 3 B arert R T ¥ | Wichferes T & avilert T UEEI AR Wl He §
Directions : Words in capital letters in column-] are written in small letters in
a code language in column-Il. Decode the Language and find out the correct alternative
for the given letters in each questions. '

-1 (Column-I) w-11 (Column-II)
HERO 7 bofw
JOIN bakp
LAZY nsvg
MINE pdkt
PART TWSX
SAURY Wveos
BLUE eglt
CIGAR vsqQwp
WRIT WPXY
VIRUS pzwoe
QUACK jgems
PIRL wprg

L @ (Rough Work)

NTSE 13 = MAT www.examrace.com
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41, TOIL & fo Wehaer & -

Code for letters in the word TOIL are-

(1) pxba (2) bpgn

8f bpxg (4) mpxg
42. COST & fo5u Gohamer &—

Code /61: letters in the word COST are-

(1" bogx (2) xqps

(3) qost (4) xqnr

43, ULCER % forg wiamem ¥-

Code for letters in the word ULCER are-

(1) ggwmr (2) teqwp

(3) ktegp ~ ,ﬁf gteqw
44, SINE ¥ v GoameR &-

P DR G TN RGNS SNt I 1 CTNIT -

(1) ptk © (2) toka

(3" ptok - (4) optb
45,  ARCH & fou depaner g—

Code for letters in the word ARCH are- )

1) fsq 42 wisq

(3) wafp ~ (4) sqfn

% 4 (Rough Work)

NTSE 13 - MAT www.e € com
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46, AdRBEE CaRDaRFEIA @ gD & E #1 B, C & 1 el 87

A and B are brother. C and D are sisters. A's son is D's brother. How is B related

to C?
(1) wrE/Brother (2) far/Father
G 33)/*@/ Uncle (4) 93/Son

.

oo

- wed (47)/Questions (47)
ﬁéeﬁ:ﬁ@%ﬁm%ﬁmmusﬂﬁﬁvwﬁﬁmﬁgr%f

e A+Bamaf &, A, B B G &
A-Baraefg, A Bauldgl
AxBaarfg A B P IEEI

Directions : Read the following information carefully and answer the question
given below-
A+B means A is the daughter of B;
A -B means A is the husband of B;

A x B means A is the brother of B.

47. R P+Q-R, @ fre & W a9 87
If P+Q-R, which one of the following is true?

() RP &1 711 8/R is the mother of P
T (2) R, P @ 7 E/R is the sister-in-law of P
(3) R, P &t =l 8/R is the aunt of P
(4) R, P & ww /R is the mother-in-law of P
é?’fw%m # (Rough Work)
. : 2 "
- : £ ' {’ia
] ')‘ o /Ef/w_. |
i P
/

NTSE 13 - MAT . WWww.examrace.com
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LS| (48—50)/Questi0ns (48-50)
frfer : fRu gu fidwedl F I g U< BT T BTV

Directions : Find out the missing one from the given alternatives.

48, 08 :28::(?):65
w9 2) 12
(3) 15 (4) 18
49. 35:91: 189 :(?)
(1) 343 (2) 341
877280 @) 210
7 13 19 2%
60, — i —u—{"),
11 17 22 Py
. 95 29
0 5 o =
, B -
3) 29 33
% P (Rough Work)
Al
NTSE 13 - MAT [PT.O.

www.examrace.com



797 (51-53)/Questions (51-53)
frder: ffra ar 9 1 2, 39 4 ey & Wy 9 QU U 1 fawew 7 1, 2, 33

4 % ged ¥ Ru i oree g 2 wel welfd o a1 Wb fAwey o o1 g $ifs |

Directions : Following four diagrams marked 1, 2, 3 and 4 are given as
alternatives. Choose the best suitable alternative diagram marked 1, 2, 3 and 4. the
one that represent the best relationship amongest the three given groups.

;
R, o, Rbm @ O

o1

Rirds, Crows, Cats
52.
53' wl f“\sl r‘qu‘ﬁziﬁ- ;,.-"‘VE-‘;{' }

Males, Nephews, Nié‘t‘es’!,-ﬂ

Y% &d (Rough Work)

NTSE 13 - MAT

www.examrace.con
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79T (54~56)/Questions (54-56)
Rrer : e et § g ey el g aiftyera g 10 €, R il v T €

Directions : In the following questions some relations are written by particular
indicators as shown below-

O = g2 8 (Greater than)
+ = g (Equal to)

= @& 78l ¢ (Not equal to)

7 = &89l el & (Not greater than)
X _  grrag @ (Not less than)
B =  ©leT g (Less than)

yede WeA | Wel I gy |

Find out the correct answer for each question.

4>
54, afepé q @ r, I8 G o
prAqOr it is possible that-

b yk L
(I PEXT (2) pxgq@r
(3) p@AaT (4) P@;&_Q@ff
55. afkp[]qAr ¥ A9 Tel - e o
If p@q Ar tt is not possible that-
14/& q@“'r @ pqdr
| (3] PJQ@Y @) p+agxr

Y% 1 (Rough Work)

NTSE 13 - MAT [RT.O.

www.examrace.com




(26°) 20t T L
b i - — -
i ¥ o

5. wRpxqgr @A d- | 20N
It pxq {71, it s not possible o

(1) pfqa%r (2) pxq+r
A3 pAqOr @) pOgq+r

57. I et 97 f&T 30 5, 2003 ¥ AR BT I & AT SAUHT TRA o 2005 F
RS & bFRY & s ?
If your birth day 30* June, 2003 falls on Monday, on what day of the week does
your birth day fall in the year 2005 L A NI
\,ﬁ"; (1) Md@R/Sunday 2o ©* k-w-'(‘?) " R /Tuesdayi'{-'-f_i.tg
W (3)  g=ar/Wedrnesday A4 T6dR / Thursday e -

58, IR 3T U S 26 SR 20 15 H1 ATE F 9 2 Rt Fme?
On what day of the week India will celebrate it Republic Day on 26" January,
WU 2015 7

L~ (1) RR/Sunday 2) maR/Monday
K;*" (3) AR/ Tuesday (4)  g9aR/Wednesday

A

59. U HISt 6 FuR 30 e 971 <1 & 1 S 6 ) 4 e Fivre At i 35 e ey aier
| T P10 &I 7

At what angle are the hands of a clock inclined at 30 minutes past 6 ?

i O
o 1 1 o T b
2’ (2) 2 Tt ~ &

315" @2 0!

il 5
W™ S L

A

(1) 7

Yy
4
L

-y
L

4 X6 3 (Rough Work) - o

ff' L

¥ ﬁ*”’[
L LK Lo 4
' ey e
i ke call 2 | s
y B ]
i - o) Y

NTSE 13 - MAT ( WWW.examrace.c
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60. T gt ydle 11 T HEl G 90 =g oS U2 81 gl 12 92 12 e o gadl
&1 g8 B3 3 HedTg uear 1 §9 &l 99 &l Y8l & o) 9§ §d R a1 8N ?
A clock is set to show the comect time at 11 a.m. The cle<k gains 12 minutes
in 12 hours what will be the true time when the watch inJi ates 1 p.m. on the

6" day?
(1) 10 a.m. (2) 11 a.m.
(3) 12 noon (4) None of these

9¢9 (6 1-64)/Questions {61-64)

frrder : feptl o &1 98 QU G 21 U g e~ Fem 1T ST Q-1 &1 & | Mo - &l
fd) o g 1 egafvn v & | SR~ U o a1 g e & 1 9o - o o R
3T ST W1 ek | FAfa SR ot &7 T ik 577 Hifor |

Directions : Two Sets of the figures are given. One set of QQuestion-figures and
another set is of Answer-figures. Question-figures are arranged in a sequence. One

figure from the Answer figures is to be selected such that it can be placed after the
series of Question-figures. Find the correct Serial number of the selected Answer-figure.

61. H%H—léﬂ/ (Question-Figures

— 7

IW fa/ Answer-Figures

v R @

W df (Rough Work)

NTSE 13 - MAT www! l:;';egfn(r)eice.com



62. ¥-FE/ Question-Figures

63. u¥-f13/ Question-Figures

L IS N
i )] v A%
) /JT' }37 Y™
3 24/ Answer-Figures |
C & ( i
S -/ / FH
) . ) NN
e (2) (3) (4)
X/ (o 7 =y
I |8 B

IW FH/ Answer-Figures
| I
8
o AT 13 (4)

64. we-f3/ Question-Figures

IR o / Answer-Figures
(1) IV (3) (4)
Y &1 (Rough Work)

NTSE 13 - MAT Www.examrace.com
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797 (65-68)/ Questions (65-68)
ﬁéﬂ:‘%ﬁmﬁ\iﬁmﬁaﬁﬂﬁﬁﬂ%mt{%wﬂﬁﬁwﬁﬁam‘i@r%ﬁww
S TR @1 e D ST B |

Directions : In each of the following questions four figures are given. One of
these figures does not fit with the rest of the figures. Find out that correct serial number.

65.
el || &)
(1) }2'}1 (3) (4)
66. |
F) [
N2 N
(2) (3) (4)
67.
= D |G
(E . €
A - (2) (3) (4)
6 & (Rough Work)
NTSE 13 - MAT [PT.O.

www.examrace.com
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Al F| Z

(1) 2) 3) W

68.

77 (69-72)/Questions (69-72)
ﬁ%@f:ﬁﬂ%ﬁqﬁmaﬁﬁg(::)%mﬁaﬁva‘?ﬁa‘ra@%ﬁﬁwwﬂiuﬁwa
aﬂ%=ﬁ3ﬁ?$ﬂﬁﬁﬁ%%ﬂﬁﬁ%@tﬂ%‘rﬁnwﬁmﬁﬁwwmaﬁmaﬁi

Directions : In the following questions there is some relationship between the
two figure on the left of (::) the same relationship exists between the two terms on the
right, of which one is missing. Find the missing one from the given alternative.

69. we-RE/Question-Figures

== I ——— &
m ni O% . :U - >7C) E
© -
SR A/ Answer-Figures
i O = é
@ O 0
0O Z: L é .
(1) (2) 3) T
W BRI (Rough Work)
NTSE 13 - MAT

www.examrace.com
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(25 )
70, 999-fem/ Question-Figures
O Q o
Sul QT o || ?jl
— @ €
SR {34/ Answer-Figures
G s’ e | |
RPN
¢ ¢ J
f(l) (2) (3) (4)
71, HQF'{—f%FJ/ (Question-Figures
A0 - Coa| : | 2

9T 2/ Answer-Figures

A
1]

(1) T 3) (4)
72. ue-fE/ Questién—Figures
2 Nr'a /'l\ (4
— —_— Lo
NI TN ALY
SR e/ Answer-Figures
1S O D
] (\L
(1) (2) (37 (4)
Y6 &R (Rough Work)
NTSE 13 - MAT

www[qx_gfr@_ce.com
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79T (73-76)/Questions (73-76)

ﬁ'éw:ﬁﬁr%f@gamaaﬁﬁwmﬁrﬁmﬁaa%‘,éﬂ%aﬁa‘magférzﬂv%‘mwwa
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Directions : The following questions are related to paper cutting. The questions
that follow contain a set of three figures X, Y and Z. showing a sequence of folding
of a piece of paper. Fig. (Z) shows the manner in which the folded paper has been
cut. These three figures are followed by four answer figures 1, 2, 3 and 4 (lind Set)
from which you have to choose a figure which would most closely resemble the
unfolded form of fig. (Z).

73. @O B HIS o BT A
Sequence of folding the paper
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74. OIS Pl AIS & BT DY
Sequence of folding the paper
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75. @S B AIS A BB
Sequence of folding the paper
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76. IS P IS < Bl b 78. Bt
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77. X Y, Z 3R P guaR 2R & IR T 3 g § TN 3 Haw & IR H wee av o
BE 3)
X, Y, Z and P are sitting around a circular table and discussing their trades. - .
(1) X, wdigar & |F o1 8/X, sits opposite to cook 780,/ af
(2) Y, T3 & il 3R 981 8/Y, sits right to the barber
(3) uielt =off & 97 @R 9371 2/ The washerman is on the left of the tailor It
(4) P Z & \rH a1 &/P, sits opposite Z
X AR Y 1 eaar a1 87 - ar 3
What are the trades of X and Y? Thar

Al) =i 3R 7/ Tailor and Barber 25 a1é 4R wagaT/Barber and Cook (1)
By auff 3k wrgar/ Tailor and Cook ,},ﬁ’ auit 3R et/ Tailor and Washermar Jo
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78w @ A B, C. D, E 3R F gu@r angfi @ €1 B, F 3R CFwea g, A, E 3R
DEaeg2an FE D & &g aR T

Six persons A, B, C, D, E and I are standing in a circle. B is between F and
C. A is between E and D, F is to the left of D.

A 3R F & 52 $IF &7 7~ ,A
Who is between A and F ? LAF |
(1) B (2) C A A
3D 4) E .
4(4/) ( X ;"

79. ©: ﬁmﬁwﬁ%ﬁéégq%m,v.am%mwﬁ%mM:iimméa%i B 4§ &R
s § a1 & ou M M dar#1 Q, R 9 3§31

Six students are sitting in a row. K is sitfing between V and R. V is sitting next
to M. M is sitting next to B who s sitting on the extreme left and Q is sitting next

to R.
V 3 3N o e 48 &7
Who are sitting adjacent to V ?
(1) RaRQ/Rand Q (2) B3R M/Band M
(3) KR R/Kand R (4)M 3R K/M and K
/80, %3 = 243
" 5 x4 =80
Fo27% 3 = 243
3 5 %4 = 30
3 al 3 s 7 ol 7 AT B

Then what is the value of 3% 77

(1) 84 : 2) 147
:13)/6’3 4) 23
% & (Rough Work)
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neq (81-84)/Questions (81-84)

fercter « el €9 % ©: o 30 WR ¥ 70 E 6 1S oft I osep o) @ At E | I
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Pl 1T fb 32 O U PR & & 3R I ST 98 MR & &1 &9 941 § vd Y e ared
&1 7Tl 81 e gedl & I gl 9.

Directions : The six faces of a cube are painted in a manner that no two adjacent
faces have the same colour. The three colours used in painting are red, blue and
green. The cube is then cut into 36 smaller cubes in such a manner that 32 cubes are
of one size and the rest of a bigger size and each of the bigger cubes has no red side.
Answer the following questions. '

AR A
81. & Mo fia gt o v uied @i 22 Al I 86.
How many cubes in all have a red side? L’ \ \.,/ ! \3
(1 16 <tz 32 il A ?
3) 8 @) 20 i
82, e B o s O e 2 %
How many cubes in all have only one side coloured?
1) 20 2 16 . %8
3) 0 (4)
83. fdhat wi o ofi ared 9 €2
How many cubes are coloured on three sides.?
(1) 20~ 2 16 - d
o 4 0 v
(1
A3
W% &1 (Rough Work)
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34.

85.

86.

87.

(31)

fopert e € ot &) a1 Sud ifdie aed W &Y

How many cubes are there which have two or more sides painted”
(1) 36 2y 28

(3) 20 (4) 32

et wpTaes i & NUMBER @1 MENYVI fésar w7 & @ FIGURE @ Sichfcr T
7} forar 91 G-

In a coded language NUMBER is written as in MFNYVI, Then FIGURE may be

written in coded language as-
(1) ERHFID (2) URTVSF
(3) GJTFSF 4y URTFIV

Rl wipfres w1 & SHIFT @1 UFKDV forear & a1 COVET &1 iehferes wiom  fosar
T TR

In a coded language SHIFT is written as UFKDV, Then COVET may be written
in coded language as-

(L EMXCV 12) FNYDU
(3) FXCUV (4) EQUDS
afe/1f

PET = 4

LET = 3

JEY = 2

a1 XET &1 19 91 &ifi—
Then what is the value of XET?

(1) 1 (2) 5
By e 4) 8
W dd (Rough Work)
N, Yy
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88. Al wmyr § aft HOME = 2541, SHOP = 8256, WORK = 9573 &1l SMOKE
&l i ey 2nfi—

' In a coded language if HOME = 2541 SHOP — 8256, WORK = 9573, then
code for SMOKE will be-

(1) 85431 A2) 84531 % ers, o

(3) 83451 (4) 84351

89. fRu Ty fer & weysii ) s el

What will be the number of Hexagonals in the given figure?

CATRY ¢
K
e

/WJWEA
90. g U fory ¥ wreR Tl B v @it

What will be the number of Parallelograms in the given figure?
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(3) 13 @) 16 ﬁ
% B (Rough Work) -
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